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_ : = 1,515,121{ 1,450,148)
it . (1) ~(3) = 3,604,314( 3,431,501 |
2. PhAERNEE ¥ —HEE
(1) g s :
( 830,000) { 710,000}
A EEMEY(EhE)848,000Mx 5/1031+((354) 726,000 x 5/10) ]
X 128 X 29A = 274,224(  267,960)
(267,950) :
o FHER 274,22489. x  40% = 109,690( 107,184)
it 4 + o = 383,314( 375,144)




(259)

_ (B : TF)
o diee T | BRI FE B FELY * % £ » '
{2) EAKE _
1 BIIS (2%5 23 H phEi-dm) 92,900 X A= 835
o EHBEREEY (hE-HERD) 39,200FF x 14A= 549
‘ ( 205)

N BHEREY 26,200/ % 3.88% 210A= 21,804(  20,410)
= 23,189(  21,79%)

&t 4 ~
(3) RFABZEY 5,000,000 x KRF» 7

(4) 73 ATEARA (128) -
' 1,582,500/ x 127
(5) WHEHR 2 ( 205)
143,738 x 3.8/1x 219A

(6) nyt';—ﬁ'%glﬁﬁé% (Lyan) %
. 11,511 500K x 124 AH
(7) Bt a2 GHER
5,450,000/ x 127 A

1l

2 (1)~ (7).

3. THEBNR (AL - T - i) o
: 40

115,000

1

= 18,390

119,620 111,873)

135,739

I

85,400

861,852( 844,041)

EBD,OU[}H x 128 xToA=  554,400( 316,800)

4. FHERSRALRBHER

45,500 x 3.8 B x {5,120 A %79.1,000)

5. BHESISBIEETST .
: 3

69,935( 0} |

(1) SETESER - 431,200 x [ (49— x bkr&—)

+ (la—x x §¥%#)]-=

12,505¢ 9,918) |.




(260)

(e : FF)
L g . HMime 3FEX | HitEEHY ’
# 1\ R UT-# A ﬁﬂ@)&?ﬁﬁﬁ%ﬁﬁaﬁaﬁm sy H #* L5
8 {f f9 IR
B @y 5,200 x 2H x 20 = 208,000
E A R 1,000/ % 10A x 20/ = 200,000
PHERE 1,160/ x 10A x 28 = 23,200
gt : 431,200P9
(2) AKE (LRL 28%% 2W3H)
(10)

i

59,900F7 x 2A  x14@ 1,677C  1,198)

It

i (1) + (2) 14,182( 11,116)

6. Wiy y—HiERAY (92 —)

{ 1,300) ( 15,216.42) (77.993)

1,500 x 16,695.42m" X124 X 78.051% 234,557( 197,304)

1

7. HER
{ 4,920)
(1)@ & # & _ 12,800/ x  5;120A = 65,536( 62,976}
_ ' (9
(2) BEEEtEY 167,300 X 12A X 10w & —= 20,076( 18,068)
(3) Baas® (ANFYE., B LR RUSiELnE)
' { 4,920) -

78,336( 7%5,276)

15,300 x  5,120A

: (1)~ (3) 163,948( 156,320}




(261)

| (R : )
¥ W o v # A Ao e T g | 0 6 3 R AR IR " oA X 3
4,920
8. AVEUF—a B ( 5,1203\
(1) AVZYF—vavh 260 X piew= 33,2800 31,960)
BUREYER _
[: o 10,0000 x 2H x 7A = 140 :}
BB 3,000 x40 A = 120
&t = 260
(2) HEAGCRE (K% 298 lm28) .
k 3,800/ x 1A X TEVH-= 219
(3) au% S50F3 x 1A x 2@ x 12f= 132
il {1)~(3) = 33,691 32,391)
9. HAMHLHHE . { 4,920)
(1) AARNTH 864 X 5'1152"}‘ x%—=175,947(170,035)
BTHPAIER
' i e 5,000 x 38H x 4A = 760
[: L. 6,900/7 X 15 A = 104 :I
it - = 864

{2) HEHKEHMRSY :
) ] 20,000 x 208 x 1ZH X

(3) WERREAER
1 WEEAMEN

o EiEHH

(4) FEIALHR (AWIE 2%6 1128)
| N

gt

2,000 x 5,120 x 3/10

400,000 x 2B x  2A

( 4,920)

4+ w

~39,900) X

A= 24,000

= 1,600

1,072( 2,952}

4,672( 4,552}

X TEYH = 219




(262)

(Bl - TF)
B R R O M A 14 g 7 M 6 3 F IR | M0 R ALK " % % # |
(5) £8% { 4,920}
550F] % 16K X 5iézu)\ % g = 1,126( 1,082)
z (1)~ (5) = 207,024( 199,348)
& & 1 ~ 9  =5,743,903(5,189,427)
_ (463,015)
2. BEETHEC AERER 505,328 539,894 34,566
' (32,121)
(H) HHss 34,551 43,833 9,282 R ) # O BIABRSHILA H|WEBE | REAR
' A
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